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Polynomial and Rational Functions
For all questions, “NOTA” means none of the above answers is correct.
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7. If 
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12. Find the coordinate of the x-intercept of the slant asymptote of the function 
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13. If 
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14. One root of 
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15. If 
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16. The polynomial 
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17. Given that 
[image: image74.wmf]  

f

(

x

)

=

2

x

-

5

 and 
[image: image75.wmf]  

g

(

x

)

=

x

2

+

4

, find 
[image: image76.wmf]  

  

(

g

o

f

-

1

)(

-

3

).



A. 
[image: image77.wmf]  

-

143



B. 5


C. 125


D. undefined


E. NOTA

18. For which of the following is there no real value of x for which 
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19. Where defined, if 
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20. Given 
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21. If 
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22. For the curve 
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23. If 
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24. The domain of the real-valued function 
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25. The polynomial 
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26. For 
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27. Given 
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29. If 
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30. If 
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1. A   
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2. C    Exchanging x for y gives
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3. B   The values to use for x are 1, 3, 
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 Put these  on a number line and test the zones to get a value >0.
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4. A    Find the values of p and q.

          
[image: image163.wmf]  

p

q

=

±

(

1

,

5

)

±

(

1

,

2

,

3

,

4

,

6

,

8

,

12

,

24

)

,

-

5

12

 is a 

          possible rational root.

5. B     Since the graph is symmetric about the        y-axis,  the function is even.

6. B    Use the sum and product of roots to write the two quadratic equations, then find the product of the quadratic equations. 
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9. D    Since the remainder is 0, -3 is a root making 
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10. C  
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11. C  Using synthetic division, the final column would be 
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 Since the sum of those two expressions must be 0, c=5.

12. A  To find the slant asymptote, using synthetic division. The slant asymptote would be a line with equation 
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13. D  Substitute (
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14. B  Since 
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15.E    f(3) = 27, f(4) = 64, f(5) = 125, f(6) = 36, 
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 sum is 301.

16. D  Using the discriminant which must be  greater than or equal to 0, 
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17. B   Since we want the value of f –1(-3), set 
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18. C   For A. 
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           values of x could be 0 or 1. For B. 
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19. A   
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 This is  equivalent to 
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20. B 
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            simplifying gives 
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21. E  
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 Values of 
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22 C   
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23. B   
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24. C   So this is defined and real valued, 
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25. D   
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26. D   List the values of p/q. 
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 gives 16 possible rational roots.

27. C    A. To find the inverse of f(x), 
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           D. 
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28. C   Translating down one unit would be 
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29. A   For 
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30. B   Find 
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TB2  Ans:  2 

Vertical asymptotes for the graph of 
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